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SECTION A (25 x 2 marks)

For each question from 1 to 25, four options are given. One of them is the comrect answer. Make

your cholce (1, 2, 3 or 4). Shade the correct oval (1, 2, 3 or 4) on the Optuzl Answer Sheet (OAS)
provided,

1. Which animal has 'a'4wstage life cycle?

(1) ()

frog
@ | I

grasshopper
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2.  Which apimal has a nymph as a stage In its life cycle?

(1) frog
(2) beetle
(3) chicken
(4) grasshopper

3. The dlagram shows the life cycle of a plant.

What is the stage marked Z?

(1) egg
(2) seed
(3) adult plant
(4) young plant
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4. Which one of the following shows the correct ordeirwhen food moves thiough some-parts of
the digestive system?

(1)

D8 -

stomach- small intestine

large intestine

small intesline

stomach large intestine

(4)

small intestine large intestine stomach



5. Which one of the following objects is not made of a waterproof material?
(1) , _ @ -

plastic umbrella, .

@ @)

metalfork: =~ A . rubber gloves

6. Matter is anything that has mass and occupies space.
~ Which one of the following is not matter?

(1) air

(2) juice
(3) water
(4) thunder




7. Which one of the following Is a source of fight?

()

(3)

@)

4

mirror

8. Which one of the following is pot a source of heat?

Q)
(2)
(3)
(4)

the sun

a bojling kettle

a lighted flame

a woollen blanket



8. Lily places a metal spoon in a cup of hot tea.

metal
spoon

a cup of hot tea

- The tea becomes colder after a while.
Which of the following explains this?

. (1) The cup loses heat to the tea.
(2) The spoon loses heat to the tea.
(3) . The tea gains heat from the surrounding air.
(49 The surrounding air gains heat from the tea.
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10. Which of the following can be atiracted by a magnet?

(1) tronrod

(2) glassrod’
(3) plastic rod
(4) copperrod

11. The picture below shows a segdl__iné. -

What is the function of the part marked Z?

(1) protects the baby plant

(2) grows into a new plant

(3) makes food for the seedling
(4)" provides food for the seedling
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12. The diagram below shows the life cycle of animals X and Y.

Animal X

Based on the information in the diagrams above, which of the following statement(s)
is/are trug? ’

A
B
C
D

(1)
(2)
3
(4)

The adults of animals S(_a'nd Y live in water.
~ Animals X and Y give birth 1o their young alive.
The young of animal Y looks Bke its parent. _
Animals X and Y have different number of stages in their life cycles.

A and B only
B and D only
A and C only
. Cand Donly
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13, Which one of the following gréphs shows tha'arﬁount of undigested food over time as it

14.

travels from the mouth to the large intestine?

M @

The following are statements about the plant transport system.
The leaves make food for the plant.
The plant transport system is made of food-carrying tubes only.

The roots transport water and mineral salts to all parts of the plant

g o @2 =X

The stem transports food from the leaves to the flowers through the food-canying
tube.

Which statements about the plant transport system are correct?

(1) Aand D only
(2) Aand C only
(3) Band D only
(4) A, CandDonly
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15. Jla Ling wanted to find out if the number of leaves on a plant affects the volume of water
absorbed by a plant. She placed the two set-ups near aMndow as shown below.

plant plant
layar of oil — layer of oil
- l{' ~— contalner _ ~ container
kg YYo= s . Lo
- B R A water walter
" Set-up X - Set-up Y

Which one of the following shows the correct change inthe volume of water in both set-ups -
and its comesponding reason7

Volume of water |Volume of water . Reéson :
in set-up X insetupY ,
(1). increase The roots in set-up Y take in more
’ ' - decrease water than the roots in set-up X.
(2) decrease ' The roots in set-up X take In more
decrease water than the roots in set-up Y.

(3) increase increase The leaves in set-up Y recelve more

water than the leaves in set-up X.

_,_{}_{,_(4) decrease d so The Igaves in set-up X_receive less
ocred water than the leaves in set-up Y.
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1 6.

The diagram below shows a picture of a f_ry!ng.fpafl.’

ows. the physucal propemes of matenals A B C and D

The table below sh
A tick (v') indicates the physscal property of the mateﬂal
Matenal Physical Prope
“Strong__| - Flexible "} Waterproof |
A v .
B v N ¥
C o ‘
D N

Based' on the information given in the 1able,

used for making part X?

™) A

B
(3) C
D

11

which one of the following materials is best |
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17. A syringe is half filled with oil and alr as shown in the d
is sealed. The plungeris pushed as shown in the d

plunger

ol .

L
pushed ‘{ —

s

iplunger s pushed in?
h
M volume I
(em3)

distance plubger

2 -

is pushed in (cm)

(3) A

volume™
(cm3)

v

(4)

distance pluriger '

is pushed in (cm)

12

volume

(em®):

volume

(cm?)

lagram below. The end of the sy7ige
jagram below.

‘Which one of thefbllowing graphs shows tﬁe change in the volume of oil and air as the

~~. air

-
“~< oil

[
»

distance plunger
is pushed in {cm)

dfétance plunger
Is pushed in (cm)
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18. A contalner filled with water has two openings,

19.

_ thread
stone

Aand B, as shown in the diagram bélow.

ﬁ | - ;B

-_—~—container

A stone tied to a thread s carefully jowered Into opening A as shown.

What will happen to'thé waterlevelatB?  °

(1) increases

(2) decreases

(3). stays the same

(4) decreases and then increases

Jean is walldng under a street Jamp -at night as shown below.

lighted
street lamp

//\

At which position, A, B, C or D, will her shadow be the shortest?

(1 A
(2) B
3 C -
(4 D

13
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20, Mary prepared a set-up as shown below. She tried to change the position of the ‘bottle and
cbserve the shadow cast on the screen. '

llghted torch.

/
N

bottle

-

|

screen

Which one of the following cannotbe a shadow cast by the bottle on the screen?

M

¢

@)

@

14
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21. Four sheets, K, L, M-and'N, made of different materials of identical size and thickness are
shown below. The sheets are arranged In a stralght line. They are'placed in front of a torch
as shown. When a torch is switched on, a shadow is cast on sheetM only. - ‘

tighted torch - \ \ \ \

K- L M N

" Which of the following correctly describes the properties of sheéts K, L, M and N?

Allows most

fighttopass | Allows no light | Not possible -
through | topass through totell -
(1) L K, M N
@ [ 1T [ ™ KN
(3) KL M N,
4 [ KL N - M
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22,

23

Which one of the following statements about heat-and _temp_eratu.re is comrect?

(1) . Temperature Is a form of energy. o
(2) Heatis the quantity of hotness of an object.

-(3). A20gand40 g object at 80 °C have the same amount of heat.

(4) Temperature of an object can be accurately measured by touiching it
Sara placed an empty and dented plastic water bottle into a cup of warm water as shown in
the diagram below. After fifteen minutes, she noficed that the water bottle was no Jonger
degted. - o S . .

dented water -
bottle undented
. water bottle
after fiteen minutes
cup of cup of
wam wate warm water

Before . . After _

Which of the following explains her observation? _

(1) The warm water lost heat fo the surrounding afr.

(2) The surrounding air gained heat from the warm water. _
(3) The airin the bottle lost heat {6 the surrounding air and expanded.
(4) The airin the bottle gained heat from the warm water and expanded.
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24, Sam attached a bar magnet wnth poles A and B onto.a plece of s'tyrdfoavﬁlbloék and Spun it
in a basin of water. .
The diagram below shows the top view of the set-up when the magnet sinpped spinning.

styrofoam block -

bar magnet

Thé d'iagram below shows the north direction indicated by the compass.

“The above bar magnet was then brought near another bar magnet. _ :
Which of the following shows the correct interaction between the two bar magnets?

Arrangement of magnets lnterécﬁohs
1) T The bar magnets repelled each
_ NI E other. |
{2) ] The bar magnets attracted each
SE & :
onp](s N other.
(3) — - The bar magne?s repelled each
AN N s other.
(4) e The bar magnets repelled each
B CAYls N other.
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25. Billy placed a sheet of material X in between a bar magnet and a ball made of material Y as
shown in the diagram below. The bar magnet attracted the ball,

bar magnet

matérial_x .
O———'— ball made of material Y

Wbich one of the following statements is correct?

(1) Material Y can'be made into magnets.

(2) . The bar magnet Is attracted 1o material X.
(3) Material X can attract magnetic materials.
(4) The ballis made of a non-magnetic material.
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Name:,‘__ S — Index No: ____ Class: P4

SECTION B (40 marks)

For questions 26 to 37, write your anéwers.clearly:in the spaces provided. The number
of marks available is shown in brackets | ] at thie’éhd of sactiquestion or part question.

26, The diagram shows the buman digesiive system. ..

Identify the part where
(a) digestion is completed: : [1]
(b) water is absorbed : | [1]
27.  (a) Fillin the correct paris of the plant in the table. {2
Functions of plant parts Plant parts

- @ | nholds the plant firmly to the soil.

(%) |# allows the plant to exchange gases with
the surrounding air.

Score
4
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(b)Y Devimade a cut In the stem and removed the food-carmying tube as shown
below.

food-camrying
tube removed
()  Staté the function of the food-carrying tube. [1]
(/)  After a week, she observed that fruit Q was smaller than fmﬁ P.
Explain her observation. [2]
B Score
3 .
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28, The diagram below shows a bottle of milk.

teat

milk

" Complete the.sentenices to state if the parts.arre solid, liquid orgas.

(a)

(b) Mikisa,

Theteatisa____

28. Siti used an Insttument o' measure the temperature of water in a container.

instument

(a)

What Is the instrument called?

(b)

°C

What is the temperature of water in the glass?

4]
[1)
50
40
—— container
{1
M
Score
4
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30. Two magnets are placed together as shown below.

magnet 1

magnet 2

I

B AlS

The south pole of magnet 2 is labelled S.

A:
B:

23

Name the poles labelled A and B on magnet 1.

ol
i1

Score
2
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31. Kathy prepared two set-ups, R and S, using identical seeds as shown in the diagrams
below. She wanted to find out if water is needed for the seeds to germinate. She placed
both set-ups in a room near the window.

" wire mesh \ /

seeds ]
| moist cotton . 34— drycoﬂon‘

ol Set-upS = - wool

SetupR

(a) State another variable that Kathy must keep the same to conduct a fair experiment.
ju!

{b) Kathy predicted that the seeds in set-up S will germinate. Do you agree with her?
Explain your answer. ' : [1]

Continue on next page Score .
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Continued fmm previous page

Kathy conducted another experiment to-study if the amount of fertiliser added affects the
height of the plant. She placed four set-ups with-identical-pots and plants near a window. She
added identical amount of water to all the set-ups daily. The table below shows the heights

of the plants at the end of theisecond week.

Set-up | Amountof | Helght of the plant at
fertilizer (g) | theend.of the second
. ) week {cm)
A - .50 5 -
B- 80 __10
[o 110 i8 .
D 140 18

(c)  Baséd on the resuits, state the relationship between the amount of fertiliser
added and the height of the plant. - 1]

(d)  State the least amount of fertiliser needed for the plant to reach s maximum .
height. . : [

Score

2
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- 32

Ravi conducted an experiment to find out if breaking food into smaller pleces affects the

- time taken for the food to be completely digested. He prepared four set-ups as shown in

the diagram below. Each of the set-up had an equal mass of biscuit broken into smaller
pieces. :

{a)  Which set-up(s) should Raviuse for his experiment?
_ Give a reason for your answer. M

The time taken for the biscuit to be completely digested in each set-up is shown
in the table below.  __

Result A B . C D

Time taken for
the biscuit to be

completely

digested (min)

(b) - Based on the above results, wh;ch resutt A, B, CorD, belongs to set-up R'?
Explain your arnswer. 2}

Score
3

26
P4 Science Practice Paper



33. Linda carried out an investigation to find out the property of four strips of materials,
A, B, C and D: She prepared the set-up as shown in the diagram below.

Before ) After

She hung blocks of equal masses on both ends of the strip of material Until t started to
bend. The experiment was repeated using differerit strips of materials, ‘

She recorded her results as'shown in the table below.

Metera) |- Number ofblecke added omeach iy o
A 10
B 7
C . 13
. D 4
(a) - Name the properly of material tested in this experiment. [1]

Linda would like to use one of the four strips of materials, A, B, G or D to make part X of
the bag below. ' . L : .

Continua on next page - Score

1
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' Continued from previous page

(b)  Which material, A, B, C or D, will be the most suitable for making part X?

Explain your answer. 7

(c) State another Important property that is needed 1o ﬁiake part X. m

~ Score

3
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34.  The base of a bottle was cut away. Jenny blew air into the botlle using a straw as
shown in the set-up below. :

(5)

. ~(b)

(c)

N

basin

wi ihé new water level in the bottle increass, decrease or remain the same after
she had blown air into the bottle?

Explain your answer. . i2]

What would happen to the volume of air in'the bottle when air was blown into the
bottle through the straw? - ) : i1

Draw the water level in the bottle when the bottle lid is removed in the diagram
below. ) : ‘ [1]

bottle -

basin

Score
4
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35. Mei Mel conducted an experiment to find out the amount of light that can pass through

" different materials of identical. size and thickness. She prepared the set-up using

material A as shown In the diagram below and measured the amount of light that passed
through it using the light sensor. The amount of light from the torch is 500 Jux. ’

-
——

S B

-~ -

— material A

[ black box

* light sensor
N
— data-

jogger

She repeated ‘the experiment by repladng w:lh materials B and c rxpec!lvely and
recorded the results as shown below. )

Material “Amount of light detected
by light sensor (1ux)
0
B 250
3 -

Mei Mej forgot to record the data for material C.

(@) Material C can be used to make the lenses of reading glasses.

(§) Put a tick in the box that-most likely shows the amount of light detecied when
materiat C was used in the experiment.

--[1]

Amount of light detected by
light sensor (lux)

Tick (V)

250

420

500

520

{ii) Give a reason for your answer.

—finue on next page

Score

2
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Continued from prevlobs page
Me! Met conducted another exper!ment uslng objects P and Q of identical height and.

_ size as shown below.

- Theyare placad n front of a lightedtoreh atposmonsXand Y

——

[ B

(1

 fighted torch

/I

L 4
X Y

screen

A dark shadow is. cast on the screen as shown below.

(b)  Statethe property of the screén. ' t1

{c) Basedon the shadow shown above fillin the boanh ‘X’ or Y’ to show the correct -
" positions of objects P and Q. [l

Objects |  Position
P

Q

Score
2
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36. Sallywanted o separate two ideptical glasses, A and B, which were stuck to each. other,
as shown in the diagram below. ‘

Sally’s mother.advised her to.use Ice cubes and hot water to séparate the glass.

glass A

basin
glass B -

{a) Where should Sally piace the ice cubes and hot water inthe set-up above in

_order to separate the glasses most quickly? M
(i) ice cube - _
- (i) hot water -
2
. Score
Continue on next page . 2
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Continued from previous page

{c)  Sally measured and recorded the temperature of the hot water in the:g::i,sl) for sixty
minutes in the table below.
Time (min) Temperature of the water In the bowl ("C)

0 : . 80

10 — 65

. 20, . 49
30 32

40 28

- 50 ' 28
60 ' ?

' bowi- ‘ '
Predict the temperature of water in the-lissie at the end of sixty minutes.  [1]

Score

4
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- 37. John set up two electromagnets uslng similar iron bars, A and B. He placed an fron clip
at the same distance between two electromagnets as shown in the diagram below.

fron clip
iron bar A iron bar B
copper win copper wire
—{ " b—

- There were the same number of copper wire coiled around both iron bars.

() Describe what would happen to the paper clip in the set-up above. - 1}

(b)  Explain your answer in (a). . -2

{(c)  Whatwill happen to the iron clip if both iron bars were replaced with aluminium-
bars? ' f1l

End. of Paper

Score
4
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CONTACT :

SECTION B
Q26) a) 3
b) 4
Q27) a) () Roots (i) Leaf

b) (i) It transport food from the leaves to all parts of the plants (i) Part of
the food-carrying tubes that lead to Q has been removed. Less food
made by the leaves is able to be transported to Q. The food-carrying
tube to P are still intact thus food will be able to be transported to P

Q28) | a) Soid
b) Liquid

Q29) a) Clinical thermometer
b) 44 °C

Q30) | A: North-pole
B: South-pole

Q31) a) Kathy must use the same containers »
b) No. The seed in set-up S did not have water to survive. So it will not
germinate.
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c) As the amount of fertiliser added increases to 110g, the height of the

plant increases
d) 110g

Q32)

a) Set-up R and S. The food in set-up S is broken into smaller pieces
while the food in set-up R is not

b) The food in R took the longest time to digest as it had the smallest
exposed surface area.

Q33)

a) Flexibility

b) Material D. It has the least number of blocks added until it bended,
hence is is the most flexible material

c) It must be strong

Q34)

a) Decrease. Air would occupy the space previously occupied by the
water

b) It would increase

c)

Q35%5)

a) (i) 500 (ii) The lenses of reading glasses is transparent and allows
most light to pass through ' o :

b) The screen does not.allow light to pass through

c)

Q36)

a) (i) In glass A (ii) IN the basin

b) So that the glass B will gain heat from the hot water and expand.
Glass A will lose heat to the ice and contracts

c) 28 degrees

Q37)

a) Iron bar B would attract the paper clip

b) The magnetic force of iron bar B is stronger as the set up has more
batteries thus attracting the paper clip

¢) The iron clip will remain in the same position
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